[image: image1.jpg]O]
$L2010m

International Informatics

Olympiad

X\ ComPuTER
) UITERACY FOUNDATION

COMPUTER SCIENCE

CLASS Code- 005

TEST PAPER 1¥PE

e T TTTTTT]

clilo]

DURATION : 60 MiNuTES

12 digit 510

. Thw question poper consit o
uestion carries il turking of 2.5 marks coch.

8. Tho quostion paper contias 4 g

TorAL QuEsTIONS ; 40

Riling up improper Holl Nurmber may:ieod to nasaifabiliy of Resul
ecton. Secton (A) has 35 questions

. Wt sour amswersid, B, G o £) n the given bae [ i the questin

Do not start attempting the test paper until you arv asked to do 50,

MAXIMUM MARKS 100

ofthe auestion Poper in the 5ven space

Section 1) s 5 questions Ko

Caper il PPl

——EEI»——

1. The DPIis the measurement unit of quality of
printers. What does DPI stands for
(4) Dot Per inch
(8 Dota Processing Implementation
(€) Data Per inch
(D) Degree Per inch
(£) None of these

|

In MS-Windows, if you want to change the
name of the folder that you have created,
which key do you use?

e 72
{0 015
naser[]

Which one of the following figures will be
formed when the given command Is typed at
the LOGO prompt?

27D SDRT 90 FD 50 RT 20 £D SORT 90 FD S0<E
(4) Cire (8) triangle
(€) Square 0) Oval

(€] None of these
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4. Word document templates are like :
(4) Books
18) Letters
(€) preprinted stationary
(D) Notes
(£) None of these

Answer[ |

Which of the following is the feature of 3
digital computer?
(4) digitol com
represent the
(8) digital comy
in the form o
¢} aigital comp
(0) digital computer op
rather than counting
(£ None o

or uses 0 and 1 digits o
signot

Aoswer (]

Which one of the following 15 the Iatest
version of Windows?
(A) Windows Vista
(€} Windows Me

18) windows 7
10} Windoiws Xp

Ancwer[ ]
[ s rse 1|

(6) None of these




[image: image2.jpg]7. Which one of the following device converts

digtal signals into analog signals?
(A) uPs (8) Hub

{€) Modem (D) All of these

(€) Nore of these Answer[]

8. While working with MS-Word, what is the
Shorteut key combination to increase the font
size?

(4) Crls Tob Enter

(8) Alte Shift+ Spacebar
() Shifes Crl + >

(D) Shifes Curt+ Up arrow

(£) None of these Answer[]

9. While working with MS-Word, Ctrl + P key
combination is used to:
(4) Open poragroph menu
(8) Open Page Property.
(€] Open Prnt Dialog Box
(D) Open Print-preview Dialog Box

(£) None of these Answer[ ]

10. Which of the following is/are required to get
connected online by using on ISP or Online
service?

(4) Modem only

(8] Telecommunication software only

(€) Both modem and telecommunication
software

(D) web browser

(€) None of these Answer[ ]

11, Intermet browser is anapplication that enables.
the user to display and interact with the
contents present on a Web page. Which of the
following isfare internet browser(s)?

(A) Internet Explorer(8) Marila Firefox
(€) Google 10) Only (4) and (8]

2) Nane of these Answer[ ]

12. Which of the following is NOT present in the
“My Computer” window?

) e vor @) tootbor
Q) dddsbor (0) Toohox
() None of these Answer[]

13. In which one of the following generations of
computers VU technology is used?
{4) First Generation (8) Second generation
(C) Third generation (0) Fourth generation

(&) None of these Answer[ ]

14, Which of the following s the shortcut key to.
switch between the open windows on a
computer?

(8] AlteEnter () AlcsDelete
1€) atvTab o) Aitoend
16) None of these Answer ]

15. Consider the following graphics:

Which ane of the following sets of commands
isto createthe above graphic?

(4) FD 100°RT 3057 40°RT 5057 1005RT
904080 SRT 785RT 50570 8OHT

(8) FD 100>RT S0>FD 40>RT 60>FD 100>RT
S05F0 1205RT 78>£0 J00>RTS05FDBOHT

(0) 0 100°R7 5055 40>RT 605£ 1005AT
905FD.30RT 785D 005RT I0SFD 80SHT

(0) D 100°RT 50550 4037 05¢D 100oRT
S05FDSORTS0SFD 20T S05FDSOHT

(6) None of these Answer[ ]

16. Which one of the following is a shortcut for
Internet Explorer browser?

w o

@ .

(6) None of these Answer[]
17, What s the extension of word template file?
(A) dor 18] doc
(@ 1ol o) mp
() None o these Answer[ ]

18. Network topology helps you to connect

computer with each other. Which one of the
following is not a network topology?

{4) Star (5) 8us
(6} tinear 0) Ring
(€) None of these Answer[ ]
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[image: image3.jpg]19. The background picture displayed on the
desktop is known as
(4) photograph
(¢) wallpaper
(£) None of these

(8] picture
(0) desktop picture

Answer[]

20, Match the following:
1 Exclomotion mark i

2. semicolon i
3. Tilde i
4 Ampersand W~

(4) 1.:2, i3 i 4,1
18) 106213, ; 4, i
(€) ;23 v 4 i
(D) 1,ii; 2,i1:3, ;4,1

(£ None of these

|

2L To copy character formatting from one
paragraph to another in a document, we use:
[A) Autoformat button
(8) Format pointer button
(€) Style command in format menu
(D) Style Gallery command in format menu

() None of these answer[ ]

22. Which of the following is the correct order of
steps to copy a file from one place to another?
(1) cick Copy.
12) Right-<ick the fle you want to copy. & context
menu will apgeor
(3) Clck Paste.
@ the folder to where you wont 0 paste

w
I
©
©
() None of these

Avswer[]

23, Consider the following two statemen

Statement A: Toskbor can be moved to the top
of window.

Statement B:Taskbar has options for quickly
launching some programs.

Which of the following is correct with respect
0 the above statements?

(4) Statement A is correct.

(8) Statement 8 is correc

(€) Both stotement A and & are correct,

() Neither statement A nor statement 8 is

comect
Answer[]

(€) None of these

REFGi010/C10

24. While working with MS-Word, Ctrl + Spacebar
key combination is use
(4) To give double spoce
(8) To change the colour of the selected text
(€) To clear the text formatting
(D) To increose the font size.

(£) None of these

25. Multimedia applications that allow users to
actively participate instead of just sitting as
passive recipients of information are called

Multimedia.
TA) Active multimedia
(8) Interactive multimedia
(€) Group multimedio
(D) Peer multimedia

(€) None of these

answer[]

26. A number of interconnected computers and
peripherals devices sharing resources and

formation are known as a ,

(4) System

(8) Web

(€) Structure

(0) Network

(€) None of these

Answer[ ]

27 n Micosoftoward the combination of Cul +
Home Keys i sed to
{3 o crsr 0 begining of the Document
{8) o curor to i ing of e Prsgronn,
[} o vuss v e of he e
Page
(D) Jump cursor to beginning of the Word, from
the et curso postion
|

(€) None of these
26. In info@yahoo.com, what does ‘®" symbol
stands for?
(4) Rounded ‘o
(8) At the rate of
(<) Hash
(0) Ampersand.
(€) None of these

answer[]

20, The correct sequence for activating the
Drawing toolbar in M15-Word is
(4) Format=> Toolbars >Drawing
18) Tools-> Toolbars->0rawing
(€) View-> Toolbors >0rawing
(D) Edit & Toolbors & Drawing
(£) None of these.

Answer ]
[ cise 5 fage 3 |




[image: image4.jpg]30, system s the processor attached

to the petral pump which converts the fuel
flow measurements and displays the quantity
and price.
(4) Analog computer
(8) Digital computer
(C) Hybrid computer
(D) Minicomputer

(£) None of these

o]

31. Consider the following two statement
Statement A: Cirl+Q removes the paragraph
formorting.

Statement B: Ctri+5 set 5 line spacing.

Which of the folowing is correct with respect
10 the above stotements?

(4) Statement A is correct.

(8] Statement 8 is correct.

(€) Soth statement A and 8 are correct.

(D) Neither stotement A nor statement 8 is

carect —

36. Observe the pattern carefully and replace the
question mark with suitable. sutable option.

37. Observe the alphabetical arrangement and
replace the question mark with suitable

option.
AbC - cBa : DeF : ?

() fed (8) Fed

() sed (D) All of these

(£) None of these

anawer]

(6) None of these
35, What s the function of the Home button on
the Internet Explorer toolbar?
(A) Helps to search for any information
(8) Stots the process of apening o web page
again
(C) Shows a st of pages visited recently
(0) Takes you to the first page of o websie

(6) None of these s ]

34, While sending an emal, you have seen the
BCC. What does BCC stand for?
(4) Blank Correct Copy
(8) 8est Carbon Copy
(€) Blank Copy t0 Copy
(D) 8lind Corbon Copy

(€) None of these.

|

35. The Optical Disk is an examle of :
(A) Prmary storage device
(8) Disk Drive
(€) Control Unit
(D) Secondary storoge media
(€] None of these

38. Complete the series.
95253 7

(445 84
()42 (0) 4
© 4 Ansver[ ]

39, The perimeter of a square Is equal to the
perimeter of a rectangle. If the length of the
rectangle is 8cm and width is 6 cm then find
the side of the square.

(4) 6em
(8] Sem
() 9cm
(0) 7em

(€) None of these

Answor[]

20, What will be the dividend if quotient is 9,
divisor is 8 and remainder is 77
(8] 78
(6) 87
(97
(0} 75
“(€) None of these

swswer ]
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